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.DPDO� $EGXO� 1DVHU�� ���� ³3URILO� GDQ� 3HUVHEDUDQ� ,QGXVWUL� 7HPELNDU� GL�
.HFDPDWDQ� 1DQ� 6DEDULV� .DEXSDWHQ� 3DGDQJ�
3DULDPDQ´

,QGXVWUL� WHPELNDU�GL�.HFDPDWDQ�1DQ�6DEDULV�VXGDK�EHUNHPEDQJ�GHQJDQ�
EDLN�NDUHQD�GLGXNXQJ�ROHK�WHUVHGLDQ\D�EDKDQ�EDNX�WDQDK�OLDW��6HLULQJ�EHUMDODQQ\D�
ZDNWX�� LQGXVWUL� LQL� PHQHPXNDQ� EHEHUDSD� NHQGDOD�� EDLN� LWX� GDODP�PHQGDSDWNDQ�
WHQDJD� NHUMD�� PRGDO�� SURGXNVL� GDQ� SHPDVDUDQ� \DQJ� DNDQ� EHUGDPSDN� SDGD�
SHUNHPEDQJDQ�LQGXVWUL�LWX�VHQGLUL�7XMXDQ�3HQHOLWLDQ�LQL�XQWXN����0HQGHVNULSVLNDQ�
SURILO� LQGXVWUL� WHPELNDU�GL�.HFDPDWDQ�1DQ�6DEDULV�.DEXSDWHQ�3DGDQJ�3DULDPDQ�
���0HQJHWDKXL�SHUVHEDUDQ�LQGXVWUL�WHPELNDU�GL�.HFDPDWDQ�1DQ�6DEDULV�.DEXSDWHQ�
3DGDQJ�3DULDPDQ�

-HQLV�SHQHOLWLDQ� LQL�PHUXSDNDQ�SHQHOLWLDQ�GHVNULSWLI�NXDQWLWDWLI��3RSXODVL�
SHQHOLWLDQ�LQL�DGDODK�VHOXUXK�SHPLOLN�LQGXVWUL�WHPELNDU�GL�.HFDPDWDQ�1DQ�6DEDULV
VHEDQ\DN�����XQLW�LQGXVWUL��7HUGLUL�GDUL����LQGXVWUL�WHPELNDU�GL�.DQDJDULDQ�.DSDOR�
.RWR GDQ� � LQGXVWUL� WHPELNDU GL� .DQDJDULDQ� 3DGDQJ� %LQWXQJDQ�7HNQLN�
SHQJDPELODQ� VDPSHO� GDODP� SHQHOLWLDQ� LQL� DGDODK� WRWDO� VDPSOLQJ�7HNQLN� DQDOLVLV�
GDWD�\DQJ�GLJXQDNDQ�\DLWX�IRUPXOD�SHUVHQWDVH�GDQ�DQDOLVLV�WHWDQJJD�WHUGHNDW�

%HUGDVDUNDQ KDVLO�GDUL�SHQHOLWLDQ�GLGDSDWNDQ����-XPODK�WHQDJD�NHUMD�\DQJ�
GLPLOLNL�LQGXVWUL�WHPELNDU�GL�.HFDPDWDQ�1DQ�6DEDULV�UDWD�UDWD���� ��RUDQJ��PRGDO�
\DQJ� GLSHUOXNDQ� EHUNLVDU� DQWDUD� 5S��������� ± 5S���������� 7HPELNDU� \DQJ�
GLKDVLONDQ�GDODP�VDWX�NDOL�SURVHV�SHPEDNDUDQ�UDWD�UDWD������WHPELNDU��3HPDVDUDQ�
WHPELNDU� MDQJNDXDQQ\D� \DLWX� -DNDUWD��0HGDQ� GDQ� -DPEL�� ��� 3HUVHEDUDQ� LQGXVWUL�
WHPELNDU� GL�.HFDPDWDQ�1DQ�6DEDULV� GHQJDQ� SROD� SHUVHEDUDQ� DFDN� DWDX�5DQGRP�
GHQJDQ�QLODL�7����������

.DWD�.XQFL� 7HPELNDU��3URILO��3HUVHEDUDQ


